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Dialogue 1

Answer questions 1 to 3

Question 1

JAS82BJ was cleared ...

higher flight level.
lower flight level.

flight level as requested.
unknown flight level.
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Question 2
The pilot made incorrect read-back of ...
standard instrument departure route.
squawk code.

1
2
3. SID and transponder code.
4 cruising level.

Question 3

The correct squawk was ...

1. 3435.
2. 3454
3. 3545.
4. 4345,
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Dialogue 2

Answer questions 4 to 6

Question 4

The problem with Niigata airport was ...

1. removal of an aircraft.
2. traffic congestion.
3.  weather.
4.  curfew.
Question 5

The original alternate airport was ...

1 Niigata.

2 Yamagata.

3. Sendai.

4.  Fukushima.
Question 6

The pilot changed his alternate airport because ...

Sendai weather was below minimums.
Fukushima weather was below minimums.
Yamagata airport will be out of operational hours.
they have a curfew at Sendai airport.
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Dialogue 3

Answer questions 7 to 9

Question 7

Matsuyama tower canceled ...

1.  instruction to line up and wait.

2.  takeoff clearance.

3.  taxi clearance.

4.  instruction to hold short of runway.
Question 8

Above cancellation occurred because ...

1.  departure runway was changed.

2. visibility was falling rapidly.

3. bird strike was reported.

4.  JA82BIJ was not ready for takeoff.
Question 9

JAS82BJ was instructed to wait for the further instruction due to ...

deteriorating weather.

runway change.

runway check.

takeoff preparation in the cockpit.
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Dialogue 4

Answer questions 10 to 12

Question 10
JA82BJ’s problem was ...
1. a possible lightning strike.
2. the airport was not in sight.
3.  aburst tire.
4.  the damage of the windshield.

Question 11
JAS82BJ wanted to ...
1.  proceed to the departed airport.
2. proceed to the alternate airport.
3. proceed to the destination airport.
4.  hold over the departure airport.

Question 12

The controller approved the pilot to make ...

PO

visual approach runway 30.
VOR/DME approach runway 30.
ILS approach runway 27.
VOR/DME approach runway?27.



Dialogue 5

Answer questions 13 to 15

Question 13

Tower observed flame and smoke from the ...

1. left wing.

2. right wing.

3. left hand wing engine.

4.  right hand wing engine.
Question 14

The pilot had noticed ...

1. ahigh EGT indication.

2. astrong fumes in the cockpit.

3. anindication of wheel well fire.

4. avery loud noise from the engines.
Question 15

The pilot requested change in heading and altitude to ...

fly to another airport.

return to departed gate.
return to departed airport.

fly to his original destination.
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Dialogue 6

Answer questions 16 to 18

Question 16
The pilot reported ...
1. avictim.
2. ahouse fire.
3. an aircraft accident.
4.  atraffic accident.

Question 17
What was the action taken by the controller ?
They broadcasted it to other aircraft.
They filed the report.

1.

2.

3. They arranged the police team.

4.  They reported it to the fire station.

Question 18

Where was the position of JA123G ?

1.  Northwest of Hongo VOR
2. Southwest of Hongo VOR
3. Northeast of Hongo VOR
4. Southeast of Hongo VOR



Dialogue 7

Answer questions 19 to 21

Question 19
The pilot requested to change altitude because of ...
icing condition.
wake turbulence.

1
2
3. 12,000 ft was reported to be clear of icing.
4. moderate turbulence.

Question 20

The PIREPS reported that ...

1.  there was turbulence reported at 12,000 ft.
2. there was icing condition reported at 12,000 ft.
3. there was no icing condition reported at 12,000 ft.
4. 12,000 ft was clear of traffic.
Question 21

The pilot was not able to accept 12,000 ft because of ...

limited fuel condition.

the aircraft's performance.
another traffic.

moderate icing condition.

PO



Dialogue 8

Answer questions 22 to 24

Question 22

The position where the pilot reported was ...

1. northwest of Kagawa VOR.

2. west of Kagawa VOR.

3. southeast of Kagawa VOR.

4.  east of Kagawa VOR
Question 23

The pilot requested ...

1.  to extend their enroute time.

2. the information of enroute cloud condition.

3.  the traffic information.

4.  to change the altitude.
Question 24

The traffic which affected to JA123G was ...
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below and insight.
below but negative contact.
above and insight.
above but negative contact.



Dialogue 9

Answer questions 25 to 27

Question 25

The first pilot's request was not approved because of ...

1. traffic.

2. minimum enroute altitude.

3. boundary of control area.

4.  restricted flying area.
Question 26

The instruction by the controller was to ...

1.  cross 50 miles Southeast of Shimizu at or below 12,000 ft.

2. cross 50 miles Southwest of Shimizu at or below 12,000 ft.

3. cross 50 miles Southeast of Shimizu at or below 13,000 ft.

4.  cross 50 miles Southwest of Shimizu at or below 13,000 ft.
Question 27

What was the initial altitude of JA123G ?

1. 11,000 ft.
2. 13,000 ft.
3. FL150.
4. FL170.



Dialogue 10

Answer questions 28 to 30

Question 28

The controller informed the pilot that ...

1.  wind condition was steady.

2. wind condition was changeable.

3. the wind condition was 340 degrees at 5 knots.

4.  the wind condition was 360 degrees at 4 knots.
Question 29

The pilot could not land because of ...

1.  amechanical problem.

2. aproblem with the ILS.

3. the wind direction.

4.  aproblem with the DME.
Question 30

The pilot decided to ...

1. hold over IKG.

2. hold and work out the problem.

3. make another approach.

4.  divert to Kagoshima.



Dialogue 11

Answer questions 31 to 33

Question 31

JA82BJ was instructed to go-around because the prior traffic reported ...

1.  abird strike on the runway.

2. an obstruction on the runway.

3. some damage on the runway surface.

4.  the runway condition check was not done.
Question 32

Tower controller instructed the pilot to ...

1.  change frequency as soon as possible.

2. remain on this frequency and report reaching 3,000 ft.

3. change frequency after reaching the assigned altitude.

4.  change frequency before reaching the assigned altitude.
Question 33

The controller corrected his read-back because the pilot ...

said wrong heading.

repeated wrong altitude.
repeated incorrect frequency.
said wrong altitude and heading.

L=



Dialogue 12

Answer questions 34 to 36

Question 34

The controller reported to the pilot ...

1.  congestions of runway 30.

2. rough air condition of departure course of runway 27.

3. wind shear and rough air on short final of runway 30.

4.  wind shear and rough air on short final of runway 27.
Question 35

JAS82BJ requested visual approach to runway 30 due to the ...

1.  instruction from the tower.

2. bird strike on runway 27.

3. approach condition for runway 27.

4.  traffic congestion on runway 27.
Question 36

Tower finally notified JA82BJ that they ...

should line up on short final.

would receive the landing clearance on short final.
would encounter a moderate turbulence on short final.
would find departure traffic from runway 30.
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Dialogue 13

Answer questions 37 to 39

Question 37

The controller instructed go-around, because of ...

1.  apredicting earthquake.

2. atraffic on the runway.

3. asevered runway.

4.  strong earthquake.
Question 38

What was the initial instruction by the controller ...

1.  make right turn departure.

2. join left down wind.

3.  continue runway heading.

4.  break to visual reporting point.
Question 39

After go-around, JA82BJ requested to ...

proceed direct Niigata VOR and hold as published at 4,000 ft.

hold over Niigata VOR as published.

proceed direct Niigata Radio Beacon and hold as published at 6,000 ft.
proceed to OKESA via missed approach course and hold as published
at 7,000 ft.

NS



Dialogue 14

Answer questions 40 to 42

Question 40

JA82BJ made a go-around because ...

1.  the birds were at 4,000 ft.

2. tower instructed JA82BJ to do so.

3. the visibility was not good enough.

4.  the birds were on the runway.
Question 41

The controller instructed the pilot to ...

1.  make left turn, and climb to 3,000 ft.

2. fly missed approach procedure course.

3. make right turn heading 300, and climb to 3,000 ft.

4.  turn right heading 310, and climb to 4,000 ft.
Question 42

The controller asked the JA82BJ whether ...

they requested to follow missed approach course.
the approach condition was good enough.

they wanted to make the another type of approach.
they wanted to make another approach immediately.
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